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(b)In an oscillatory circuii L:r-, lti. :=, , _- :. ",:,: j: rs ir-.:\r:*::. ...-:; ,_: :esislan;e s,:,that circuit is oscillatory. (2)

3' what is compound Pendulurn? Derive an expression for its time period. Show that centreof Suspension and centre of oscillation are interchangeable in compound pendulum (5)
4' write the equatio. of motion of a damped simple harmonic oscillator. Find its solution.Discuss briefly the case of Light damping. (5)
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7' Define qualiS' factor of a forced mechanical osciilator in terms of absorption band widthand derive i1s expression.
(s)

8' Discus the variation of magnitude of relocity versus driving force frequency in forcedoscillator. Show it graphically. (5)

The candiclates are required to attempt two questions each
A & B . Attempt any five questions from Section C.
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e [ecrrical osc i I latc,r.?

1b]\\hat is meant b1'transient and stead' state behavior of forced osciriator?
(c) what factors determine the naturai frequercy of a simpre harmonic osciilator?
(d) Is energy stored in a forced oscillator?

flrffit 
is the phase relationship betw'een velocity and acceleration in simple harmonic

(f)write difference between naturar, forced and resonant vibrations?

(g)What is Critical clamping? Write equation for it. 2X5=10
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